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1 = goo E 345,000
2 = goo E 170,000
T3 = goo E 102,000
T3 = goo E 102,000
T5 = goo E 69,500
T5 = goo E 69,500
T7 = goo E 44,580
T7 = goo E 44,580
T7 = goo E 44,580
T10 = ooo E 34,620
T10 = ooo E 34,620
T12 = ooo E 30,060
T12 = ooogd E 30,060
T12 = ooo E 30,060
T15 = ooo E 27,600
T15 = ooo E 27,600
T15 = ooo E 27,600
T18 = goo E 25,800
T18 = goo E 25,800
T18 = goo E 25,800
T21 = goo E 24,300
T21 = goo E 24,300
T23 = goo E 22,200
T23 = goo E 22,200
T23 = goo E 22,200
T23 = goo E 22,200
27 = goo E 20,400
T28 = goo E 19,300
T28 = goo E 19,300

1/2



ggd

30
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35

T36

T36

goo

goo

goo

gonos4

goo

goo

goo

17,550
16,950
15,750
15,150
14,550
13,950
13,050

13,050
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